Revision Worksheet - 2

Name: Subject : Mathematics
Class: IV Section: Topic: Addition and Subtraction
Date : T Sign:

QL Fill ups:

I P 1899 -

i, Sueceessor of 2001 1s

L 10+ = 1042

iv.  Predecessor of 1100 IS

v, 6712 +0=

Vi, 12351380 =

Vil 987610 =

Vi 1689 -0 -
1000~ = 1000
IR0 189

2. Solve the following:

1 8792 . 5364 Ll 490
+6352 +7629 + 995
v, 75672 v, 9210 vI.3519
- 3481 - 4762 1683



Obul
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Q3. kstimate the Sum and Difference of the following;

i STE+328 (nearest 100) =
i 2987+4692 (nearest 1000) =
. 450321 (nearest 10)

iv.  8350-2914 (nearest 1000)

4

f

Q4. There are 3289 birds in a bird sanctuary. 1438 more birds join during summer. Find
the number of birds in summer?

Q6. What is the difference between smallest 6 digit number and greatest 4 digit number?

(8. Fill in the missing:

L 8940 L5217
7 2 Fi69
B 6909



